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Test Pattern

F=Q(E+VXB) or dF=(pE+JXB)d

D=X>0E+P and H=B/U0-M

D=X>rX0E; H=B/(UruU0); J=Q(E+e)
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Ajax Corp
Leaders Inlindustrial Innovatiom
123 Sapporro Road
Palos Verdes, CA 90274
555) 5 4 1 -1 2 3 4

Mr. J. Smith
123Main St AN 5 « B—Ir A~ FEM T H
Detroit, MI 98989 November 15,

Dear Mr. Smith

It has been called to our attention that you have been
Having adifficult time with our new widgent .upon
Reviewing your case, we have found that you have failed
to plug your widget into an electrical outlet.As you

may know, our widget does require power to operate
properly

thank you for buying our widgets ,and we look forward
to your continued business.

Sincerely,

John L.Smith

Customer Service Manager

* 12345« 67890 ¢ + 12345 « 67890 = 12345 + 67890 -










